'n nann? 10 "90n 712N g7

1 an'wn
JIMN91 Y0NN 190NN NX 71a0N 702 m'hwn

x8+5x9=5x___ = 5x8+9x8=__ x8 =
x7+7x9=7x___ = 7x9+9x4=__ x9-=
x4+6x10=6x___ = 6x4+4x9=___ x15=
x9+8x5=8x___= 8x9+7x9=15x ___ =

2 an'wun
IROD 77U NNIY 8 190N N'21 11'20 DN NOOX NIRRT

IR0 9 Niw 701
IX7X1 D*IN 15 -1 DAY Nmipn 2900 1'N K71 D20 DN VAN NDO0NYT
.TIiny7?

(21w'n%? o'k 723NN DX 1NNA) ?7N90KY7 1V'aN DN NN

8 x 9 x15 a 8 x (9 +15) .x
15+9+8 .7 8x9+ 15 a2
3 an'wn
J720N2 wnnwnh 'Y ANIXR IMOY CTOW ATRY 1aNd 71aan 704
(7-3)x4 7 x3x%x4 N
(7 +3) x4 .71 7+3x4 a
4 an'wn

:D'VIVTON NX IN'7UN

NYIT Nnp wiunt nYr NIty nTN Nty

Ny N'IT 12 |'RY yainny NIY!' NYIT 12 W'y yaInnY

nn'vl aTIay

NP'OUNNNN 7V NIP'SN DY QIN'WA 'TIO'N 1'N2 NZ'VNRNNY IR DN 7270 T 7V PIn



